- TR R E (BDKE -G



TR R K

@® @ @ @ ® ® @ ©)
A |t s g | ok | B Sl |57 g .
DIP ¢ 100 - PP ¢ 50~ | PP ¢ 50~ | DIP ¢ 10 - s
Db i | PPOS0 | PPO50 220 220 DP:?.{%S #50~620 grrjfllsomo grrjfllsomo arat
w s | 2% 2% 1% k| sy | sy | @ 53| W 53
SRR T t=5cm 336.7 | 174.2 69.9 8.0 | 351 | 4.0 5.4 |633.3 | 630
F e o K A N R R I R R I R
0.20BH t=10cmBA F 109.0 | 103.8 | 103.8 | 9.9 9.9 2.0 | 13.0 1.0 1.8 | 354.2 | 354
e ) T 0.20BH 1475 | 15.6 | 14.6 1.5 1.4 2.7 15.6 1.4 2.6 1202.9 | 200
MR T @R+ 0.20BH 1.7 0.0 0.8 1.7 4.2 4
WRT (AT 0.20BH 89.7 10.9 100.6 100
HR T (AR 0.20BH 14.6 1.4 16.0 16
Py T st 478 | -0.6 | 146 | -0.1 1.4 2.7 3.5 1.4 2.6 | 733 | 73
Py T AS 5.5 5.2 5.2 0.5 0.5 0.1 0.7 0.1 0.1 |17.90 | 18
mAEAes | |
TREH#ET t=28cm 109.0 2.0 | 13.0 1.0 1.8 | 126.8 | 127
REi%E oy a1 S S I D R S N R R AR AR AR AU IO
ST t=20cm 109.0 2.0 | 13.0 1.0 1.8 | 126.8 | 127
Rii%E oy Va1 S I D R S N R R R AR AR AU IO
bR A T t=15cm 103.8 9.9 113.7 114
HABRET A | |
HJF T.(#58) | t=5cm PK3 109.0 | 103.8 | 103.8 | 9.9 9.9 2.0 | 13.0 1.0 1.8 | 354.2 | 354




IERAERTER

. i & -
il Ml no neE B £ &
O EKE HE 537 DIP ¢ 100 1.30 167.69
@ (ExEAiEx  HE 53%! PPe50x2%  0.14 173.00
@ (R H9E 538 PPe50x2%  0.14 173.00
@ (ErEATEx HE 53%! eeeso~ezxaz  0.14 33.00
® ERERE HE 53 wes~sxaz  0.14 33.00
© | EK HE 537 DIP ¢ 100 1.30 2% X 1.0m 2.00
@ gk BE 53 ¢ 50~ ¢ 20 13% AT X 1.0m 13.00
fRa% ‘Eieid HOE 537 DIP ¢ 100 1.30 157X 1.0m 1.00
©@  mwikvrre—n  HE 537 DIP ¢ 100 1.30 2T X1.5m 3.00
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DIP ¢ 100mm DP=1.3m

TR B DIP ¢ 100 FEMRIEY. 1.370 m
s@**ﬁﬁf 005 m MR 0.840 m 34+
BIFO 0.100 m B 028 m FEB®E
AR 0.118 m BAE 020 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHI R 167.69 167.69
SRR T
t=5cm 167.69 X 2 4 0.65 X 2 = 336.7
EfiE R EUE T
As t=10cmPL 167.69 X 0.65 = 109.0
P Ak A T
0.65 X 1.370 - 0.118 2
X 7 = 4 ) X 167.69 = 147.5
WERT (B4E+)
0.65 X 0.840 - 0.118 2
X 7 — 4 ) X 167.69 = 89.7
Ay T4 +) Skt
147.50 - 89.70 =+ 0.9 = 47.8
Ly T.(AS)
109.00 X 0.05 = 5.5
TR T
FAYEARCE t=28cm 167.69 X 0.65 = 109.0
RC-40
rERET
HAERRE A t=20cm 167.69 X 0.65 = 109.0
RM-40
F=ET
HABRET 270 t=5cm 167.69 X 0.65 = 109.0
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IEREARR 255

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RHIE 060 m AS 0.05 m
PRHI R 173.00 173.00 m
EfERR BT T
t=5cm 173.00 + 0.60 X 2 = 174.2 m
S IR U T
As t=10cmLL T 173.00 0.60 = 103.8 i
R ) T ‘
173.00 0.60 X 0.150 = 15.6 m®
HET (RAENA)
( 0.60 0.150 - 0.060 2
X 7 4 X 2 )X 173.00 = 14.6 m®
S TRAT) R+ ‘
15.60 14.60  + 0.9 = 0.6 m°
7% 1005y T(AS) ‘
103.80 0.05 = 5.2 m®
FET
BABRIET 27 t=5cm 173.00 0.60 = 103.8 i

PK—3
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REREE 25
PP ¢ 50mn DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SR 0.05 m FEAR R m  RERA
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 173.00 173.00
EfiE R EUE T
As t=10cmPL 173.00 X 0.60 = 103.8
FEAR T T
( 0.60 X 0.150 - 0.060 2
X n - 4 X 2 YX  173.00 = 14.6
A TG4 1) Skt
14.60 - 000 =+ 0.9 = 14.6
Ly T.(AS)
103.80 X 0.05 = 5.2
LT
FERIEfA t=15cm 173.00 X 0.60 = 103.8
RM-40
F=ET
HABRET 27 t=5cm 173.00 X 0.60 = 103.8

PK—3
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IEREARR 15

PP ¢ 50~ ¢ 20mm DP=0.14m

RS PP ¢ 50~ ¢ 20 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RS 030 m AS 0.05 m
PRHI R 33.00 33.00 m
SRR T
t=5cm 33.00 2 + 0.30 X 13 = 69.9 m
EfiE R EUE T
As t=10cmLL T 33.00 0.30 = 9.9 m
R ) T ‘
33.00 0.30 X 0.150 = 1.5 m’
HET (RAENA)
0.30 0.150 - 0.060 2
7 = 4 ) X 33.00 = 1.4 m’
S TRAT) R+ ‘
1.50 1.40 =+ 0.9 = 0.1 m°
55 T.(AS)
9.90 0.05 = 0.5 m®
FET
HABRET 27 t=5cm 33.00 0.30 = 9.9 m

PK—3
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ERERE 15

PP ¢ 50~ ¢ 20mm DP=0.14m

RS PP ¢ 50~ ¢ 20 MRS 0.150 m
HEWE 0.05 m FEAR R m  RERA
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RS 030 m AS 0.05 m
PRHI R 33.00 33.00
EfiE R EUE T
As t=10cmPL 33.00 X 0.30 = 9.9
FEAR T T
0.30 X 0.150 - 0.060 2
X 7 = 4) X 33.00 = 1.4
A TG4 1) Skt
1.40 - 000 =+ 0.9 = 1.4
Ly T.(AS)
9.90 X 0.05 = 0.5
LT
HARMMA t=15cm 33.00 X 0.30 = 9.9
RM-40
F=ET
HABRET 27 t=5cm 33.00 X 0.30 = 9.9

PK—3
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DIP ¢ 100mm DP=1.3m

EHEER DIP ¢ 100 FEAREEN  1.370 m
SRR 005 m BEE  0.840 m pokik B+
BIFO 0.100 m B 028 m FEB®E
AR 0.118 m BAE 020 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
PRHI R 1.00 X 2 2.00
SRR T
t=5cm 1.00 X 4 X 2 = 8.0
EfiE R EUE T
As t=10cmPL 2.00 X 1.00 = 2.0
FE AR T
2.00 X 1.00 X 1.370 = 2.7
WERT (hpktkB 1)
2.00 X 1.00 X 0.840 = 1.7
S TRAT) R+
2.70 - 0.00 =+ 0.9 = 2.7
55 T.(AS)
2.00 X 0.05 = 0.1
T E AT
FAVIARA t=28cm 2.00 X 1.00 = 2.0
RC-40
LT
HARMMA t=20cm 2.00 X 1.00 = 2.0
RM-40
F=ET
HABRET 27 t=5cm 2.00 X 1.00 = 2.0

PK—3
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FEs R

HIVP ¢ 50~20mm 10 it

R HIVP ¢ 50~ ¢ 20 FEMRIEE.  1.200 m
SRR 005 m BeEERE  0.000 m hiEAE -
BIFO 0.050 m Bz 0280 m  FEBM®E
AR 0.060 m BAE 020 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
BEE 084 m R+
PRHI R 13.00 13.00
SRR T
t=5cm 13.00 2 +( .00 - 0.30 )
X 13 = 35.1
SRR U T
As t=10cmPL T 13.00 1.00 = 13.0
P Ak 1 T
1.00 1.200 - 0.060 2
7 = 4 ) X 13.00 = 15.6
WERT (hEkRET)
1.00 0.000 - 0.060 2
7 = 4 ) X 13.00 = 0.0
WERT (B4E+)
1.00 0.840 )
X 13.00 = 10.9
A T4 +) Skt
15.60 10.90 + 0.9 = 3.5
Ly T.(AS)
13.00 0.05 = 0.7
T E A T
FAYIAREA t=19cm 13.00 1.00 = 13.0
RC-40
LT
HAERREE t=15cm 13.00 1.00 = 13.0
RM-40
F=ET
HABRET 270 t=5cm 13.00 1.00 = 13.0
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(G EEgE s

DIP ¢ 100mm DP=1.3m

R R VP ¢ 100 MRS 1.370 m
SRR 005 m BEE  0.840 m pokik B+
BIFO 0.100 m B 028 m FEB®E
AR 0.118 m BAE 020 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
PRHI R 1.00 1.00
SRR T
t=5cm 1.00 X 4 = 4.0
EfiE R EUE T
As t=10cmPL 1.00 X 1.00 = 1.0
FE AR T
1.00 X 1.370 - 0.118 2
X 7 = 4 ) X 1.00 = 1.4
WERT (hiktgRE 1)
1.00 X 0.840 - 0.118 2
X 7 — 4 ) X 1.00 = 0.8
Ay T4 +) Skt
1.40 - 000 =+ 0.9 = 1.4
¥ AL T.(AS)
1.00 X 0.05 = 0.1
T E A T
FAVIARA t=28cm 1.00 X 1.00 = 1.0
RC-40
LT
HARMMA t=20cm 1.00 X 1.00 = 1.0
RM-40
F=ET
HABRET 270 t=5cm 1.00 X 1.00 = 1.0
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KWK 7 s —L

DIP ¢ 100mm DP=1.3m

A DIP ¢ 100 FEARyEE. 1.440 m
EHAERRUE 0.05 m iR 0960 m polktkBE 1
BIEOEE 0.10 m BAE 028 m  FEKE
EHMR 0.118 m BAE 020 m  FEKE
AR SR H b 1.20 m AS 0.05 m
PRI 1.50 1.50
AR BT T
t=>b5cm 1.50 2 + 1.2 X 2 = 5.4
SEERR B T
As t=10cmPL T 1.50 1.20 = 1.8
FEAR R 1 T
( 1.20 1.440 - 0.118 2
X o 4 ) X 1.50 = 2.6
HET (&E1)
( 1.20 0.960 - 0.118 2
X o 4 ) X 1.50 = 1.7
s T4 1) B
2.60 0.00 = 0.9 = 2.6
AL T(AS)
1.80 0.05 = 0.1
TERET
FAEYLAREA t=28cm 1.50 1.20 = 1.8
RC-40
T
FAERfEG t=20cm 1.50 1.20 = 1.8
RM-40
=g T
FEBRIET 22y t=5cm 1.50 1.20 = 1.8

PK—3







B KE M E
GX# ¢ 100mm

w B L B K& ¥oo& | W OAr
Ed A1 B T ¢ 100 166.4 m
o F o W LT ¢ 100 12 N
% & T EE ¢ 100 41 |
E2 & T PUL7 ¢ 100 0 o
iE2 & €L RICE ¢ 100 D H
E2 & T GU>Z7 ¢ 100 14 o
w5 &k E L ¢ 100 4 5
KWK 7 R — AT Fr et i T ¢ 100 2 &P
fa U X ERE L H7 6 & BT
2/ N R S - S B 2 & BT
7 7 v v Mk F L $ 75 4 m
Vv vy p) MR ) ARk E L M35 2 1
A Hh = v F L ¥k ¢ 100 8 |
BE sk & ff F 4L T DIP ¢ 100 2 N
B &k B B W T DIP ¢ 100 8 N
g W\ os 7 — 7 L ¢ 100 218.4 m
% W oo v — b LT 165.0 m
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Poran /N
e XK EF M B =X
5 L H W | PHTEE |7 #isn pERussl] sk TR A
% N o 2 11° 45° 45° %070; 6 T5X500L | 675X200H|  HI 500}690 | =L Wi Tk
GX ¢ 100 35 7 42 2 1 1 2 2 2 2 2 2 2 2
il ) maws | oA PULy | GUrr  |EmhpaesEE ke | mRF-7 | syt
FRE-JER VU-200 ki sk
% Loy
GX ¢ 100 6 6 2 1 5 10 0 14 3 218.4 | 165.0
K ¢ 100 2 5
115
B B EAR T GO | A i | Py | ques [T e oo vma | T
= R | VPR i s ) A
GX ¢ 100 166.4 12 41 5 0 14 8 2 4 2
e i R e e e e s
GX ¢ 100 4 2 6 8 218.4 | 165.0
K ¢ 100 2




MRS

GX7 ¢ 100mm A T R 167.690
DP=1.3m FAMRILRE 166.350
M Bt Bl i BT B & 3 &
=8 # GX#& 4.000 35 140.000
H B (=3 GX# 2.610 1 2.610
H ) # GX#& 1.000 1 1.000
H B (=3 GX# 1.000 1 1.000
H ) # GX#& 3.160 1 3.160
H B (=3 GX# 0.940 1 0.940
H ) # GX#& 2.850 1 2.850
Z B (=3 GX# 1.300 1 1.300
z ) # GX#& 2.000 1 2.000
Z B (=3 GX# 2.910 1 2.910
z ) # GX#& 1.500 1 1.500
Z B (=3 GX# 2.770 1 2.770
z ) # GX#& 1.000 1 1.000
it (=3 11 1/4° 0.360 2 0.720
it E 45° 0.420 2 0.840
[} = it (=4 45° 0.160 1 0.160
F & T 5 & ¢ 100X ¢ 75 0.440 2 0.880
AN I -4 ¢ 75X 500L 2
i s #o| 020 2
#weoF X B Ok B HnA 2
HE K I £ | ¢500X690H 2 (Fatr)
ik iy ¢ 100 0.200 2 0.400
i % =l & ¢ 100 0.020 1 0.020
V7 by — AL R | W% 4100 0.180 2 0.360
Y7 by — AL B R | ZHL ¢ 100 0.490 2 0.980
KWKV 7 vy — A9 ¢ 100 2
b8 £ - A |H=510~690mml|| A 8 6
v U w ¢ 200 6
B a i s FIEE 5
B = h i FA4F 0.029 10 0.290
P a 0 A GUv 7 14
" S el DIPH ¢ 100 3
ik i KJ%+ ¢ 100 2
I SN S i ¢ 100 5




g E W E

GXJEZ ¢ 100mm

[.=4.0m/A

Sik=Ik=s O1E oOrE | LEEG) PRE Gl

1 2.610 1.300 Z 0.090 2
2 2.000 H 2.000 1
3 1.000 2.910 Z 0.090 2
4 1.000 1.500 Z 1.500 2
5 3.160 Z 0.840 1
6 0.940 2.770 Z 0.290

7 2.850 1.000 Z 0.150 2
G 12




B —MNEHFE

(£ % GX ¢ 100mm 2
AT AR IE £ 166.35
P+t 2
0.664 0.664 0.664
MoOB E| 165.022 0] 0] 165.022 |
EEEIRE 165.0 | 0.0 | 0.0 | 165.0 |
BT —THER
1 (&3 ¢ 100mm 7
G} " 35 0
] (5 7 0
Mo & 218.4 0 218.4
1KHTY 5.2
EEEIRE 10.92 0 0 11]

#%:/20m



XEBRAM R

M4 i HE =<k
HIVPEE ¢ 50mm 1| =
HIVPT LR @ 50mm 1 &
HIEBANILT Y oy k ¢ 50mm 1| 1&
FEVTILIR @ 65mm X ¢ 50mm 1| 18

BT X T 8 — 1 &




N

I3
R

\



w B L B 1% & | W7
RV F Lo &A% T ¢ 50 346.0 m
My E e = VEAR R T ¢ 20 18.5 m
AL = L E AR L ¢ 25 1.0 m
R = L E AR L ¢ 30 8.0 m
R = LB AR L ¢ 50 5.5 m
RV FL U &H/HF L ¢ 50 94 i
L A H oA L ¢ 20 18 i
LA » # & L ¢ 25 3 i
LA » # & L ¢ 30 9 i
L A H oA L ¢ 50 41 i
LA » # & L ¢ 65 2 i
A NV s /N B < S VN DIP ¢ 100X ¢ 50 4 & AT
= 7 B f I ¢ 50 4 &
ook B W B L 613 10 & AT
ook B W B L ¢ 20 3 & AT
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(REAT B TEH &

Mk PSR B

RIZF L E ¢ 13 m
¢ 20 m
¢ 25 m
¢ 30 m
¢ 40 m
¢ 50 346.0 m

HIVP# é 13 %N
¢ 20 5 K
¢ 25 1 K
¢ 30 2 K
b 40 0 K
¢ 50 2 K

BTV T Ik ¢ 13 |
¢ 20 1
b 25 1
¢ 30 1
b 40 1
¢ 50 4 {H

AT H T o — 013 VA
¢ 20 1
b 25 1
¢ 30 1
b 40 1
® 50 28

ART 5T B — 013 WA
¢ 20 1
b 25 1
¢ 30 1
b 40 1
¢ 50 4 {H

BTV T AR 013 M
¢ 20 1
b 25 1
¢ 30 1
b 40 1l
¢ 50 8




(REAT B TEH &

Mk % &

&Sy AN/ ey ¢ 50X 13 &

¢ 50X 20 6 &

¢ 50X 25 1 &

¢ 50X 30 3 fE

¢ 50X 40 0 &

¢ 50X 50 9 &

R L7 b 13 &
620 6 fH

b 25 1 &

¢ 30 3 &

) 0 &

¢ 50 13 &

=7 ¢ 13 &
620 6 fH

b 25 1 &

¢ 30 3 fE

¢ 40 0 (&

¢ 50 3 &

BB TR ¢ 65X 50 2 &

ke T 57— ¢ 65 2 A

ISV T Ry 7 A (PVCHYL) ¢ 200 25 {#

MANIZE P ES VP ¢ 100X ¢ 50 fiax 0 &

DIP ¢ 100X ¢ 50 {i% 4 &

HI /LR ¢ 13 1
6 20 12 8

¢ 25 2 &

¢ 30 6 i

¢ 40 0 &

¢ 50 6 i

HI V7 Aok ¢ 13 &
6 20 6 fH

¢ 25 1 A

¢ 30 3 &

¢ 40 0 &

¢ 50 3 &




(REAT B TEH &

M4 PSR &
HIF >~ ¢ 13 1
6 20 3 i
b 25 1 &
¢ 30 3 fE
¢ 40 0 (&
¢ 50 3 fE




R —5

4 oM peiit) | Hvect | 5705 | A5, |, | BRI TS A o (] KA Rt M7 | S H [tk
H | Rk 200
M 4R | & O mo [ RB mo | 0| B 0| | ng | | N | | nex | Ek NR | B | N | e fE% fE% TE% DR | R | D | | R | R | AR A |
@ 13 BER% 20 | 3.5 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1 |2 |1
@ 13 BER% 30 | 3.5 50 % 30 1 30 [ 1 |30 |1 1 30 | 2 |30 |1 |3 |1
® 13 BER% 20 | 3.5 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1
@ 20 BER% 50 | 1.0 50X 50 1 50 | 1|50 | 1 1 50 | 2 |50 | 1 |50 |1
® 13 BER% 30 | 3.5 50 % 30 1 30 [ 1 |30 |1 1 30 | 2 |30 |1 |3 |1
® 13 BER% 20 | 3.5 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1
@ 13 BER% 50 | 3.5 50X 50 1 50 | 1|50 | 1 1 50 | 2 |50 | 1 |50 |1
13 BER% 20 | 3.5 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1
© 13 BER% 25 | 1.0 50X 25 1 25 | 1 |25 | 1 1 25 | 2 |25 | 1 |25 |1
20 BER% 20 | 1.0 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1 |2 |1
() 20 BER% 20 | 3.5 50X 20 1 20 | 1 |20 | 1 1 20 | 2 |20 | 1 |2 |1
®@ 13 BER% 30 | 1.0 50 % 30 1 30 [ 1 |30 |1 1 30 | 2 |30 |1 |3 |1
® 13 BER% 50 | 1.0 50X 50 1 50 | 1|50 | 1 1 50 | 2 |50 | 1 |50 |1
& 50X 2% 50 | 346.0 50 | 4 |50 |28 |50 | 4 [50 |8 50X 50 6 50 | 10 2 2 12 DIP100 X 50 4
1 THE % (3 - 25%) 173.0 13 13 13 13 13 13 50 %13 13 13 13 13 13
b THE S (3 - 150) 33.0 20 20 | 185 | 20 20 20 20 50 % 20 6 20 | 6 20 | 6 20 [ 12 [ 20 | 6 20 | 3
RERR GG 131F 25 25 | 1.0 | 25 25 25 25 50X 25 1 25 | 1 |25 | 1 25 | 2 |25 | 1 |25 |1
30 30 | 80 | 30 30 30 30 50X 30 3 30 | 3 |30 |3 30 | 6 |30 |3 |3 |3
fiey s 13 10f& 7T 40 40 0.0 40 40 40 40 50 X 40 0 40 | 0 [40 | 0 40 [ 0 |40 | 0 |40 | O
fiey sy 20 3R AT 50 | 346.0 | 50 5.5 50 | 4 |50 |28 |50 | 4 |50 | 8 50 % 50 9 50 | 13 | 50 | 3 50 | 6 50 | 3 50 | 3 |DIP100X<50[ 4
it | 346.0 | F 33.0 B 4 B 28 | & 4 B 8 it 19 B 23 | & 13| ‘ 2 i ‘ 2 it ‘ 25 | & 26 | & 13| F 10 it 4
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[ ¢
VP ¢ 75mm

T B K& ¥oo& | W OAr
WMEERDETFHEATL VP ¢ 20 16.0 m
WMEERDETFHEAT VP ¢ 25 1.0 m
WMEERDETFHEAT VP ¢ 30 8.0 m
WMEERDETFHEATL VP ¢ 50 8.0 m
WMEERDETFHEAT VP ¢ 100 166.4 m
WMEERDETFHEAT PP ¢ 50 346.0 m
o= & B Mk L VP ¢ 20 4.0 N
o= & B Mk L VP ¢ 30 2.0 N
o= & B Mk L VP ¢ 50 2.0 N
o= & B Mk L VP ¢ 100 48.0 N
wMox & B B L PP ¢ 50 101.0 |
M = B E W # 4t L=25kmLL F ]
= B/ L 5 # 3.6 i
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S T

o) @
LN HKE B
& | g
¢ 20~ 50| ¢ 20~ ¢ 50
HE 537 | Al 307
GiES Dl t=hcm 51.8 2.6 54.4 50
shsspgEgET |
0.20BH t=10cmPA T 13.2 0.6 13.8 14
bk A T 0.20BH 16.5 0.8 17.3 20
A T AN 2.6 2.6 3
HRET(&KEL) 0.20BH 3.4 0.1 3.5 4
HERT (BE+) 0.20BH 6.7 0.2 6.9 7
HERET (BE+) AT 2.6 2.6 3
Ay T FEA A+ 9.1 0.6 9.7 10
Ay T AS 0.7 0.0 0.7 1
BAeESAE | |
TRk t=28cm 13.2 13.2 13
NGy v SR I I R IR
gk T t=20cm 13.2 13.2 13
BAeESAE | |
e T t=25cm 0.6 0.6 1
FAEmRIET A2
FE T (HE) t=5cm PK3 13.2 0.6 13.8 14




IERAERTER

Z T4 .

HH TfE & R iz 5 ooz
4% +#5v o

D KK HijE HIVP 6 20~ ¢ 50 1.30 22.00
@) K R HIVP ¢ 30 1.30 1.00
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Bk

HIVP ¢ 20~ ¢ 50mm DP=1.3m

NS B -3 FRL (1H&5 Ao 720)

Z: 1k (0.5%1.0%0.9=0.45m1)

) B 1k (0.5%1.0%0.3=0.1513)
SRR ERE HIVP ¢ 20~ ¢ 50 BeMdEE 1.250 m
EES 0.056 m MR 0.260 m FojRck B+
BIEOME 0.030 m KeidE 0510 m AL
AR B 0.060 m Bz 028 m  FERE
IREIE 060 m B 020 m  EERm
AS 0.05 m
PEHIIE 22.00 22.0
EREERRYIM T
t=5cm 22.00 2 + 0.60 X 13 = 51.8
ESERREUE T
As t=10cmLL T 22.00 0.60 = 13.2
AR T
22.00 0.60 X 1.250 = 16.5
NVALE < =T i) &P
0.45 5 + 0.15 X 2 = 2.6
HET (&E+)
0.60 0.26 - 0.060 2
n + X 22.00 = 3.4
HMET (41)
22.00 0.60 X 0.51 = 6.7
NIET (B4A+)
2.6
Ay T R+
16.50 6.70 = 0.9 = 9.1
¥+ T(AS)
13.20 0.05 = 0.7
NEL R
HAYARG t=28cm 22.00 0.60 = 13.2
RC-40
b JE A T
AR t=20cm 22.00 0.60 = 13.2
RM-40
=AM
F/EBRIEET 232 t=5em 22.00 0.60 = 13.2

PK—3
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KK

HIVP ¢ 20~ ¢ 50mm DP=0.9m

©)
SRR ERE HIVP ¢ 20~ ¢ 50 BeMdEE 1.250 m
EES 0.056 m MR 0.240 m PojRek B+
BIEOME 0.030 m iR 0250 m AL
AR B 0.038 m B m  FERE
IREIE 060 m W 025 m  EEpm
AS 0.05 m
PEHIIE 1.00 1.0
ERTERR G T
t=5cm 1.00 2 + 0.60 X 1 = 2.6
SRR EUE T
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4cm 0.104 0.0000
5cm 0.130 687.7 0.8940
6cm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
1lcm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 687.7 0.8940
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